Efficiency vs P,

+0.02
o

9.018F

>
$.016
)
D.014
0]
0.012
0.0
0.008
0.006
0.004
0.002

............................................

............................................

............................................

.........................................

"

1.0

Ratio

o
©

ul

=
<

1

10

. Gedf’

—s=— DQM_mkFit_baseline_lowPT
—e— DQM_mkKFit_baseline6iter_lowPT
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

oy

0.1

4
Z0.09
50.08

(8]
£0.07

©
0.06
0.05]
0.04
0.03
0.02
0.0
Vel

.......

.......

.......

Ratio
N

Efficiency vs ¢

o-0.05¢
o E
Q.045 ;
(8] .

—k

.......................... R s U




	Contents
	Page 1


